
!! Requires Hot Racing Mod 1 34t Pinion 5mm Bore part #HRANSG34M1

Center chassis conversion for the Team Losi LMT RTR, Roller, TLR 
Tuned or Mega trucks.  Dual or single motors, lower center of gravity 
2S shorty side mounted battery and fore or aft weight bias tuning with 
motor and electronics position options.

Goblin LMT Conversion kit



1

2

Goblin LMT Conversion kit

01

M3x8mm
Cap Head x5

12mm Round
Standoff x5

28mm Standoff x4 M3x8mm 
Cap Head x7

15mm Standoff x3

28mm standoff

15mm standoff



Spacers can be changed or removed
when using longer motors

Attach stock Losi LMT crossmembers or aftermarket
crossmembers to the top of the motor side plate.  Install
the lower crossmembers to the battery side plate.

3

4

02

Locknuts

M3x18mm

M3x18mm
18mm Standoff

Spacers can be used here to bump
battery strap out when using longer
motors or whenever more space is
required inside the chassis.  Longer
screws may be required depending
on your final setup.

18mm Standoff

Locknut

M3x18mm

M3x14mm

M3x10mm

M3x12mm CH

M3x10mm CH

M3x10mm CH

M2.5x10mm CH

M2.5x10mm CH

M3x10mm CH
M3 Washer

M3 Washer

M3 Washer

M3 Washer
M2.5x10mm CH

M2.5x10mm CH

M3x10mm
Cap Head x4

M3 Washer
x4

M2.5x10mm
Cap Head x4

M3x10mm
Cap Head x1

M3x14mm
Cap Head x1

M3x18mm 
Cap Head x3

M3x5mm
Spacer x4

18mm Standoff x2M3
Locknut x3

M3x16mm 
Cap Head x1

Goblin LMT Conversion kit



Refer to the Team Losi TLR Tuned LMT manual step D3 to attach motor side plate to the gear box
housing set using the housing screws from your Losi LMT.

After the Motor side plate is mounted inside of
the LMT gear box housing set from step D3 of 
the TLR Tuned LMT kit manual, push the Goblin
battery side chassis plate into place and secure
screws.

5

6

Goblin LMT Conversion kit

M3x10mm
Cap Head x4

M3 Washer
x4

M2.5x12mm FH

M2.5x10mm CH

M2.5x10mm CH

M2.5x12mm FH

M3x10mm CH

M3x10mm CH
M3 Washer

M3 Washer

M3 Washer

M3 Washer

M3x10mm CH

M3x10mm CH

M2.5x10mm
Cap Head x2

M2.5x12mm
Flat Head x2

03



The electronics tray can be mounted at the front or the rear and can
be rotated fore or aft or flipped and raised.  You may also attach Losi
headers #LOS241035 in this location by omitting the locknuts & using
8x M2.5x10mm Cap Head screws mounted inside the chassis facing out.

7

8

Goblin LMT Conversion kit

M2.5 Locknut x4 M2.5x10mm
Cap Head x4

04

M3x18mm 
Cap Head x2



Center the New 34t Pinion on Losi Idler
Shaft #LOS242044 and secure before
installing into chassis.

! USE THIS GEAR ONLY ! 
Hot Racing Mod 1 34t Pinion 5mm Bore #HRANSG34M1

!

9

10

05

HR Mod 1 34t pinion

Losi idler shaft

M5 Shims

M5x13mm Bearing

M5x13mm Bearing

Carbon Fiber Idler Gear Cap

Carbon Fiber Cush Gear Cap

M3x8mm cap head screws x7

M4x12mm Bearing

M3x8mm
Cap Head x7

M4x12mm
Bearing x1

M5x13mm
Bearing x2

LOS242044
Idler Shaft x1

M5 Shim x2

Refer to Team LOSI TLR Tuned kit Manual step D14 2 and 3 to install Cush Gear onto
input shaft and omit the small M4x8 bearing.  It will be replaced in the next step with a 12mm bearing.

Goblin LMT Conversion kit



Chassis battery 
cutout

The Goblin accomodates single or
dual motor setups with 540 and
some 550 size motors.

55
0 
BL

SE
N
SO
R
ED

550 BL

SENSO
RED

Position 550 sensored motors with the sensor plug on the outside of the battery in 
the sensor cutout zones.  Some dual 550 Sensored motors might not fit depending 
on gearing, position and solder tab height.  Shorter motors generally do not have 
mounting requirments.

Brushed motors may require the Carbon Motor
Spacers included in kit.  Brushless motors DO NOT
use the spacers.

11

12 13

06

NOTE!
M3x12mm when using motor spacers
M3x8mm without motor spacers

Motor Spacers for use
with brushed motors

M3x16mm
Set Screw x2

M3x8mm
Cap Head x4

M3x12mm
Cap Head x4

Washer x4

M3 Thumb Nut x2

Goblin LMT Conversion kit



Gear cover set can also be purchased at our
shapeways shop in other materials and colors:
https://www.shapeways.com/shops/teamprp

13

14

Goblin LMT Conversion kit

07

M3x8mm
Cap Head x5

M3x20mm
Cap Head x1

Rubber Plug x2



15

16

Lorem Ipsum

Goblin LMT Conversion kit

08

M4x25mm
Set Screw x8

M3x16mm
Cap Head x4

M3
Locknut x4

Attach 4-links to left and right side
of the Goblin.

Attach 4-links to the Goblin center chassis core on both sides of the 
chassis.  Use 70mm length for 13.5” wheelbase parts (RTR Grave/Son 
Uva Digger/Roller) and 90mm length for 15” wheelbase parts (TLR 
Tuned/Mega Truck).

Bonus option:  You can also use Losi 90.5mm 4-link bars from the RTR and 
Roller kits as your upper links if using Mega or TLR Tuned long lower links!  Or 
get a matching set and order Team PRP 90mm Links for your Lower Links if 
you’re running a short wheelbase shock to axle truck.

Variations:  Your kit may have included 4-links 
with a short set screw pre-installed.  In this case, 
you may choose to replace it with the included 
M4x25mm set screw.

Build upper links x4 using stock Losi rod ends

       M4x70mm link for 13.5” RTR wheelbase
 
M4x90mm link for TLR Tuned 15” wheelbase x4

M4x25mm Set Screw

M4x25mm Set Screw



Lorem IpsumNow simply refer to the Team Losi LMT manual for instructions on how to mount the outer
chassis plates, shocks and axles to the center chassis using the parts and hardware from
your LMT kit or our shock tower option kits and prepare to rip up the track with your new
Team PRP Goblin!

The Goblin performs flawlessly 
in dual motor Sport Mod, single 
motor 2.2 class or Pro Mod 
setups!*  
           *Check your club’s rules!

Available options
from Team PRP:
STL Shock Towers
Duo Shock Towers
Titan Caster Blocks
Steering Limiters
Titan Steering LinkTitan Steering Link
FS Drag Link
Axle weight Mounts
SOACAPs
Upper 4Link Braces
Servo Spacer

Visit the shop for more info!

Thank you for racing with Team 
PRP.  The art of R/C!

Best!

- Ben

17

Goblin LMT Conversion kit

09



RE
AR

FR
O
NT

Ey
e 
to
 E
ye

Li
nk
 L
en
gt
h:
   
   
   
   
m
m

Ey
e 
to
 E
ye

Li
nk
 L
en
gt
h:
   
   
   
   
m
m

Ey
e 
to
 E
ye

Li
nk
 L
en
gt
h:
   
   
   
   
m
m

Ey
e 
to
 E
ye

Li
nk
 L
en
gt
h:
   
   
   
   
m
m

ST
L 
TO
W
ER
: Y
 / 
N

ST
L 
Sh
oc
k 
Lo
ca
tio
n

Ca
p:

Bl
ad
de
r: 
Y 
/ N

Pr
e 
Lo
ad
:  
   
   
  m
m

O
il:

Sh
oc
k 
Le
ng
th
:  
   
   
  m
m

Pi
st
on
:

Sp
rin
g:

Bu
m
p 
St
op
:  
   
   
 m
m

Ty
pe
:

Ca
p:

Bl
ad
de
r: 
Y 
/ N

Fr
on
t S
ho
ck
s

Re
ar
 S
ho
ck
s

Pr
e 
Lo
ad
:  
   
   
  m
m

O
il:

Sh
oc
k 
Le
ng
th
:  
   
   
  m
m

Pi
st
on
:

Sp
rin
g:

Bu
m
p 
St
op
:  
   
   
 m
m

Ty
pe
:

Re
ar
 U
pp
er

Li
nk
 L
oc
at
io
n

Fr
on
t U
pp
er

Li
nk
 L
oc
at
io
n

ST
L 
TO
W
ER
:  
Y 
/ N

Sh
oc
k 
Lo
ca
tio
n

Sw
ay
 B
ar

Ty
pe
:

Th
ick
ne
ss
:  
   
   
   
   
  m
m

Le
ng
th
:  
   
   
   
   
   
   
 m
m

Sw
ay
 B
ar

Ty
pe
:

Th
ick
ne
ss
:  
   
   
   
   
 m
m

Le
ng
th
:  
   
   
   
   
   
   
m
m

Re
ar
 W
he
el
s:

Ti
re
:

In
se
rt:

Ti
re
 M
od
s:

W
he
el
 M
od
s:

Tr
ac
k 
W
id
th
:

Re
ar
 T
oe
: 
 
 
 
º

Re
ar
 T
oe
: 
 
 
 
º

Fr
on
t W
he
el
s:

Ti
re
:

In
se
rt:

Ti
re
 M
od
s:

W
he
el
 M
od
s:

Tr
ac
k 
W
id
th
:

Fr
on
t T
oe
: 
 
 
 
º 
 
Ca
st
er
:  
 
 
º

Fr
on
t T
oe
: 
 
 
 
º 
 
Ca
st
er
:  
 
 
º

Ru
nn
in
g 
W
ei
gh
t:

Re
ar
 A
xle
 W
ei
gh
ts
:  
Y 
/ N

Ty
pe
:

Ad
de
d 
W
ei
gh
t:  
 
 
 
  g
ra
m
s

W
he
el
ba
se
:

Ri
de
 H
ei
gh
t:

ES
C:

Ba
tte
ry
:

M
ot
or
/s:

Se
rv
o:
  
  
  
  
  
  
  
 R
x:

Ac
ce
ss
or
ie
s:

El
ec
tro
ni
cs

Du
al
 M
ot
or
s:
 Y
 / 
N

Pi
ni
on
s:

Si
ng
le
 M
ot
or
 L
oc
at
io
n

Ce
nt
er
 D
iff
 O
il:

Ri
ng
 G
ea
r O
rie
nt
at
io
n:
 R
ea
r /
 F
ro
nt

Re
ar
 D
iff
 O
il:

Sh
op
 a
nd
 S
up
po
rt:
  t
ea
m
pr
p.
bi
gc
ar
te
l.c
om

Fr
on
t D
iff
 O
il:

ES
C
 L
oc
at
io
n

No
te
s:

G
O

B
L
IN DU

O
 T
O
W
ER
:  
Y 
/ N

Re
ar
 S
ho
ck
 M
ou
nt
 L
oc
at
io
n

O
th
er
 T
ow
er
s:
 P
RP
 S
TL
 / 
Di
gg
er
 L
M
T 
/ M
eg
a 
LM
T 
/ T
un
ed
 L
M
T 
/ _
__
__
__
__
_

DU
O
 T
O
W
ER
:  
Y 
/ N

Fr
on
t S
ho
ck
 M
ou
nt
 L
oc
at
io
n

Li
m
it 
St
ra
p 
Lo
ca
tio
n

Le
ng
th
:  
   
   
   
 m
m

Li
m
it 
St
ra
p 
Lo
ca
tio
n

Le
ng
th
:  
   
   
  m
m

DR
IV
ER
:  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
 T
RU
CK
 N
AM
E:
  
  
  
  
  
  
  
  
  
  
  
  
  
BO
DY
:

EV
EN
T:
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
DA
TE
:  
  
  
  
  
  
  
  
  
  
Q
UA
L:
  
  
  
  
 F
IN
IS
H:

TR
AC
K:
   
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
 S
UR
FA
CE
 T
YP
E:
   
  
  
  
  
  
  
 S
iz
e:
 S
m
al
l /
 M
ed
/ L
ar
ge
 / 
Ve
ry
 L
ar
ge

TR
AC
TI
O
N:
 L
ow
 / 
M
ed
 / 
Hi
gh
 / 
Ve
ry
 H
ig
h 
   
   
  
 C
O
ND
IT
IO
N:
 D
ry
 / 
Da
m
p 
/ W
et
 / 
Du
st
y 
/ H
ar
d 
Pa
ck
 / 
Bu
m
py

TE
M
PE
RA
TU
RE
: 
  
  
 º
   
W
EA
TH
ER
:  
  
  
  
  
  
  
  
  
  
  
  
   
  
Sm
oo
th
 / 
Lo
am
y 
/ O
th
er
:

ST
L 
Sh
oc
k 
Lo
ca
tio
n.
  D
ist
an
ce
 fr
om

in
ne
r m
ou
nt
 to
 s
ho
ck
 m
ou
nt
: 
  
  
   
m
m

ST
L 
Sh
oc
k 
Lo
ca
tio
n.
  D
ist
an
ce
 fr
om

in
ne
r m
ou
nt
 to
 s
ho
ck
 m
ou
nt
: 
  
  
   
m
m


